TecTnpoBaHue No XMMmn Ha
TEMY:
Ha3BaHNe TeMbI

BbinonHun:
YY4EHUK

CpegHeN LLKOrb!
Ne7/

10 knacca «A»
BepeTeHHNKOB



BbibepeTe npaBunbHoe Ha3BaHWe
BelllecTBa

CH3_C|=CTCH2_CH3
CH3CH3
1 — 2,3-anmeTunreKkceH
2 — 2. 3-ANMETUNNEHTEH-2
3 — renTeH-2

(XN
N
[3%)



Bbibepute dpopmyny ankeHa

1T- C12|'|24

2 — C7H16

3-C,H,




Kakon Buag nsomepumn y ankeHosB
OTCYTCTBYET?

1 — yrmepoaHoro ckenerta
2 — MONoXeHUaA KpaTHOWN CBA3U
3 — NONTIOXXeHUa PyHKLUUOHarnbsHOU rpynnbl

(XN
N
[3%)



[lpaBunbHo!!!




HeBepHbI OTBET!!!



[lpaBunbHoO!!!




HeBepHbI OTBET!!!



[lpaBunbHoO!!!




HeBepHbI OTBET!!!



KoHeLl TecTUpoBaHUA



